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Balancing Chemical Reactions

Description:  Balls in plastic bags represent atoms in molecules.  Shuffling balls into different bags represent the reaction, CH4 (g) + O2 (g) =  C (s) + 2 H2O (l).  The number and color of the balls does not change.

Concept:  The atoms in a chemical reaction are conserved and chemical equations can be balanced.

Materials:  

· 2 black balls

· 4 red balls

· 4 white balls

· 6 clear Ziplock bags

Procedure:  
Demonstrate the following reaction: CH4 (g) + O2 (g) =  C (s) + 2 H2O (l)

Put one black ball and four white balls in a bag (CH4) and two red balls in another bag (O2).  These are the reactants.

Move one red ball (O) and two white balls (2 H) into a bag.  Move the other red ball and another two white balls into a second bag.  There should be one black ball left in a bag (C).  These are the products.

Diagram:




Notes:  Developed for Ewing's C100.  His Procedure may be different.
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